CLA-416-441 BOMB-SHELL 10f3
CARACOLE CLASSIC

ASSEMBLY INSTRUCTIONS
TWO(2)PEOPLE REQUIRED

1) This case has 2 option of the base, if you want the higher size that please lay the case down on a soft, clear surface, then remove the pedestal (1) from the case as Diagram 1.

2) Assemble the Metal Plate (E) to the pedestal (2) by Bolt (A), then attach the metal plate & pedestal (2 ) assembled to the case,using the Flat Washer (B), lock washers (C) and Bolt (A)
Tighten by wrench (D) until the pedestal is fully assembled as Diagram 2.

3) Using TWO people carefully return the case to the upright position.as Diagram 3.

***NOTE KEEP THIS SHEET ***
In the unlikely event that you would need a replacement part for your furniture,
please contact your local authorized Caracole International dealer. If you
need replacement hardware quickly, it could be purchased from your local
hardware store.

7
5
7
5
%
%
7
5
%
7
%
7
5
%
7
5
%
7
5
%
%
7
5
%
%
7
5
%
%
7
5
%
%
7
%
7

CLA-416-441
BOMB-SHELL

Part Description Part No. QTY .
Pedestal 1 (lower base) | CLA-416-441-20220 2 RTA Hardware g
Pedestal 2 (higher base)| CLA-416-441-20338 2 NO. Hardware List Qty g
Door pull CLA-416-441-2082 4 A [ Bolt (1/4(in)x20mm) 16 g
Drawer pull CLA-416-441-2080 1 B ® Flat Washer 16 §
Door Hinge CLA-416-441-2005 8 c (=] Lock Washer 16 g
Full Extension Guide CLA-416-441-20350 1SET D —= Wrench 1
Marble Top CLA-416-441-20171 1 E AN Metal Plate 4
RTA Hardware CLA-416-441-2001 1 E Gr Anti-tilt Hardware 1




Option1

RTA Hardware

NO. Hardware List Q'ty
A Do Bolt (1/4(in)x32mm) 8
B Flat Washer 8
C S Lock Washer

Note: keep the uninstalled hardware with

lower base if you assembly the higher

base, this hardware is for lower base only

and don't use for higher base,

Diagram 1

20of3



. 3 of 3
Option2

RTA Hardware

Hardware List Q'ty
O Bolt (1/4(in)x20mm)
Flat Washer
(=) Lock Washer 8

Note: uses above hardware to assembly
higher base as shown in diagram 2.

Diagram 2

RTA Hardware
NO. Hardware List
ol Bolt (1/4(in)x20mm)
B Flat Washer
(=) Lock Washer

Note: uses above hardware to assembly
the metal plate with higher base as
shown in diagram 2.

Diagram 3




